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PRINCIPLE OF MATHEMATICAL INDUCTION AND

LINEAR INEQUATIONS
1. By ......in "Principle of Mathematical Induction" prove that for all
neN
nn+1)(2n+1
1P +2°+ 3 + ... +n? = ( ) )
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o Watch Video Solution
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2. Prove that by using the principle of mathematical induction for

allm € N:

1234234+ ... +n(n+1)(n+2) = n(n + (n +2)(n +3)
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° Watch Video Solution

3. Prove that by using the principle of mathematical induction for

alln € N:
1 n 1 N 1 R 1 mn
14 47 710 77 (3n—-2)3n+1) 3n+1
° Watch Video Solution
4. By ......in "Principle of Mathematical Induction" prove that for all
n €N
3" > 2"



https://dl.doubtnut.com/l/_tBgVWECIVTNJ
https://dl.doubtnut.com/l/_dJBiJ5MhwEuH
https://dl.doubtnut.com/l/_SBk90sm5Trnp

|  Vvvaldn viaco ooiution )|

5. By ......in "Principle of Mathematical Induction" prove that for all
ne€N

32" *2 _ 8n — 9is divisible 64

° Watch Video Solution

6. Prove that by using the principle of mathematical induction for
alln € N:

1 2
14243+ . 41 < 2(20+1)

o Watch Video Solution

7.Linear inequation Slove for x:

(z —2)(z + 3)
(1-2z)
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| o Watch Video Solution

8. Solve for x:

(z — 1)*(z - 2)*(z + 1)°
z8(2z + 3)°

<0

o Watch Video Solution

9. Solve for x :

e =1+ |z —2]+(x—3) > 6

° Watch Video Solution

lz + 3| +z
10.Solve:—— > 1, x € R,
T+ 2

° Watch Video Solution
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11. Solve for x :

+1‘>8
TT3 73

° Watch Video Solution

12. Solve for x :

e =1 +]z—2[+(z—3)>6

o Watch Video Solution

13. Solve for x :

T 1

ac—5>2

o Watch Video Solution

14. Solve the system of inequations
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